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 REAL R,U,V,Z,X 
 
 WRITE(6,600) 
600 FORMAT(’XR’,6X,’U=SIN(R)’,7X, 
    *’V=COS(R)’,7X, ’U*U+V*V’) 
       
       X=0.0 
        
   1 R=X*3.141592/180.0 
   [ ]   

   [ ]   
 Z=U*U+V*V 
 WRITE(6,601)X,R,U,V,Z 
601 FORMAT(2F5.1,3E15.8) 
 X=X+5.0 
 IF(X.LE.90.0)GO TO 1 
 
 END 
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        [ ]   
 

 DO 10 I=1,3 
 READ(5,*)X,Y,Z 

   [ ]   
 ANS2=ROOT(2.0*X,3.0*Y,Z) 
 WRITE(6,*) ’ANS1=’,ANS1,’   ANS2=’,ANS2 
  10 CONTINUE 

 
 END 
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 BUNBO(X)=  [ ]   
 

 
 A=X/BUNBO(X) 
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 B=(X+5.7)/BUNBO(Y*Y) 
 C=Z/(BUNBO(SIN(Z)) 
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*======================================= 
* MAIN ROUTINE 
*======================================= 
 PROGRAM MAIN 

 
 DO 10 X=0.5, 1.5, 0.1 
 Y=F(X) 
 WRITE(6,601) X,Y 
 601 FORMAT(2E20.8) 
  10 CONTINUE 
 
 STOP 
 END 
 
 *======================================= 
 *  USEER DEFINEDED FUNCTION 
 *======================================= 
   [ ]   

 

 IF(  [ ]  )THEN 

     [ ]   
 ELSE 
     [ ]   
 ENDIF 

 
   [ ]   
� END 
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*======================================= 
* MAIN ROUTINE 
*======================================= 
 PROGRAM MAIN 
 REAL A, B, L1, G1, V, W 

 
 READ(5,*)A, B, L1, G1 
 CALL PIPE(A, B, L1, G1, V, W) 
 WRITE(6,600)V,W 

 

   [ ]   
 WRITE(6, 600)V,W 

 
 600 FORMAT(’V=’,E15.8, ’ W=’, E15.8) 

       
 STOP 
 END 
 
 *======================================= 
 *     SUBROUTINE OF PIPE CALCULATION 
 *======================================= 

   [ ]  (X, Y, L, G, V, W) 
 REAL X, Y, L, G, V, W 
 
   [ ]   

   [ ]   
 

   [ ]   
 END 
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I, J, K, M ( 3 ) 
 

 
*======================================= 
* MAIN ROUTINE 
*======================================= 
 INTEGER I,J,K,M 
 
 I=4 
 J=6 
 K=8 
 CALL WA(I,J,M) 
 
 WRITE(6,601)I,J,K,M 
 601 FORMAT(’I=’,I2,’J=’,I2,’K=’,I2,’ M=’,I2) 
 
� STOP 
 END 
 
*======================================= 
* SUBROUTINE 
*======================================= 
 SUBROUTINE WA(M,N,K) 
 INTEGER I,J,K,M,N 
 
 I=33 
 J=44 
 K=M+N 
 M=55 
 N=66 
 
 RETURN 
 END 
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